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= 41.03 % 41.0
REER L=5m
WHEFREBESS H=2.015m+R#450.5m=2.515m
3E%151 N1=(2.515%5)/(1.10 X 1.10) = 10.39
2E%151 N2=(2.00 X 5)/(1.10 X 1.10) = 8.26
1B%15] N3=(1.00 x 5)/(1.10 X 1.10) = 4.13
= 22718 % 22.8
REER L=21m
MEFREBESS H=2.015m+R#450.5m=2.515m
3ER151 N1=(2.515x21)/(1.10 X 1.10) = 43.65
2E%151 N2=(2.00 % 21)/(1.10 X 1.10) = 34.71
1B 15| N3=(1.00 x 21)/(1.10 X 1.10) = 17.36
= 0572 % 95.7
HiXE AT N=41+23+96 = 160 £ 160.0
W=
50t7L—>  N=41+23+96 = 160 %  160.0
BAK—k  TIL——k A=(9m+5m+21m) X 5.0m/m =175.00 m2  175.0




HIBIHE (EF) BREHEE

[EED,
TTRZEY # B it 5 0K B % 2
R RER IR
Bt ) KIBHIBELET £ m3 8.9
R o)) KEITHELFFHLE m3 59.8
EmER  #%t KITEHELY m 16.9
ZEEER Yt KILTEHELY m 8.9
ERIEMAER
Bt ) KIBHIBELET £ m3 = 340.1
REEIBC® #EFEIR m2 28.3
#EJnyy  $#z35cm  A=220x1.118%x 115 28.29 m2 28.3
ARAav%Y -+ 18-8-40 V=28.29 X 2.2m/10m 6.22 m3 6.2
FAHHA RC-40 V=(0.30+0.569) X 0.5 X 2.20 X 11.5 10.99 m3 1.0
Xiwavy)—+ 18-8-40 V=0.714%0.10 X 11.5 0.82 m3 0.8
EmER  #t KITEHELY m2 = 193.3




i IR

iH

B El (")

1 5l (#&a)

TTIRX LY | ERE | BTEE  FuwEE L PERE | BTEAE  TowmmERE IR T
(m) (m?) (m?) (m°) (m) (m?) (m?) (m°)
aEF
LA —RED
24.2+77.2 0.00 6.6 - -
24.2+80 2.80 6.6 6.60 18.5
ANo.0+57.5 11.20 20.9 13.75 154.0
24.3 8.80 24.1 22.50 198.0
24.3+1.7 7.70 24.1 24.10 185.6
i 30.50 556.1
aEF
R#HENY
24.2+77.2 0.00 3.0 - - 0.00 25 - -
24.2+80 2.80 3.0 3.00 8.4 2.80 25 2.50 7.0
ANo.0+57.5 11.20 43 3.65 40.9 11.20 3.0 2.75 30.8
24.3 8.80 8.3 6.30 55.4 8.80 4.0 3.50 30.8
24.3+1.7 7.70 0.0 4.15 32.0 7.70 0.0 2.00 15.4
& 30.50 136.7 30.50 84.0




A R EEE

=)
T No. TR s | FuemiE  ILf& TR BT E | EuwEis A =
(m) (m?) (m®) (m®) (m) (m®) (m%) (m®)

a7

LY

24.2+717.2 0.00 2.2 - -
24.2+80 2.80 2.2 2.20 6.2
ANo.0+57.5 11.20 1.9 2.05 23.0
243 8.80 1.7 1.80 15.8
24.3+1.7 1.70 0.0 0.85 6.6

B 30.50 51.6




i IR

iH

B El (")

1 5l (#&a)

#rmENo. TR BT E | EuwEis A TR BT E | EuwEis A BE

(m) (m?) (m®) (m®) (m) (m?) (m®) (m)

y.=

TERER

24.2+80 0.00 8.1 - - 0.00 2.0 - -

ANo.0+57.5 11.20 10.0 9.05 101.4 11.20 2.1 2.05 23.0

24.3 8.80 9.1 9.55 84.0 8.80 1.9 2.00 17.6

24.3+8.0 8.00 9.1 9.10 72.8 8.00 1.9 1.90 15.2
28.00 258.2 28.00 55.8




A R EEE

B (PR ) SEEER (%)
¥ E No. gk S BTETE | EuwmiE iR gk EE FIHEE ©@©FE BE
(m) (m?) (m®) (m®) (m) (m) (m) (m®)

kR

ITERER

24.2+80 0.00 1.1 - - 0.00 6.4 - -
ANo.0+57.5 11.20 1.0 1.05 11.8 11.20 5.7 6.05 67.8
24.3 8.80 0.8 0.90 7.9 8.80 8.1 6.90 60.7
24.3+8.0 8.00 0.8 0.80 6.4 8.00 8.1 8.10 64.8

B 28.00 26.1 28.00 193.3




-4 xE =
BT E &
12 Al (%) Bt
T No. TR s | FuemiE  ILf& TR BT E | EuwEis A =
(m) (m?) (m®) (m®) (m) (m®) (m%) (m®)
EE
1R 5% IR 1%
24.3+8.0 0.00 1.9 - - 0.00 0.0 - -
24.3+17.4 9.40 0.0 0.95 8.9 9.40 1.5 0.75 71
24.3+36.6 19.20 3.3 2.40 46.1
24.3+40.6 4.00 0.0 1.65 6.6
9.40 8.9 32.60 59.8




A BEEHEE
EEER (L) EEER (Y1)
B ENo. izt IR THEE &R R B IR THERE &E e
(m) (m) (m) (m®) (m) (m) (m) (m®)

EE
R ER IR
24.3+8.0 0.00 3.6 - - 0.00 1.9 - -
24.3+17.4 9.40 0.0 1.80 16.9 9.40 0.0 0.95 8.9

B 9.40 16.9 9.40 8.9




